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#include <stdio.h>
#define SIZE 5
int main(void) {

[Z 1]
78 97 85 -858993460 91

int score[SIZE];//int score[5];

score[0] = 78;
score[1] = 97;
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")

score[2] = 85;
score[4] = 91;
//score[5] = 50; //=EHLF= HASHA| RoLt A F 2

for (inti = 0; i < SIZE; i++) ! H{ QA =2
printf("%d ", scoreli]);

printf("#n");

return O;
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int al[4] = {10, 30, 50, 40 };
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#include <stdio.h>

int main(void)
{

int score[7] = { 87, 65, 78, 77, 47, 75, 88};
int i, sum =0;

DE MLAE sum0j| Ci5}17]

printf( "&&8=%d\n", sum );
printf( "H@=#=%d\n", A7 AFSHO );
return 0; ¢¢§0}EH iuﬂxl'aloﬂkl U=
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#include <stdio.h>

int main(void)
{
double x[] = { 10.5, 5.7, 12.9, 4.56 };
int i, cnt;
double sum = 0.0;

cnt = sizeof(x) / sizeof(x[0]);
for (i = 0;i < cnt;i++)

sum += x[il;
printf( "sum=%g\n", sum );
return 0;




b 7 =1

O| XA HHE MAHI} ALS

¢ O|x}3 i iR (A M HfAH)

B0 E0|E HEf

 1XHe B (3H)0] 01 TH(2) Y= 2

¢ O] HHE M A

- 2JH9] CHEET} ER [ W] T4

+ BIIMO! A] £72HS FASIX| BHECIE Hh=A|
3} 20| 37|8 25 HAIFHO} &

@ HEHO A 271218 Eciet ol b 92 ks

2

4

L)

L)

4

L)

L)

¢ O|XI=l Hd &4 access
< 2719 °._|'=—*I¢ AP

< arr[rowl[coll]
= row+1Hul 89| col+1HAY & 2L



b 7 =1

ORI HiEd AL FX2% &5
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#define COLSIZE 3
int main(void) {
int td[ROWSIZE][COLSIZE];

td[0][0]
td[1][0] ==

== 1 td[0][1] ==
4 td[1][1] ==

2 td[0][2
5 td[1][2

]:
]:

w

td[0][0] = 1; td[O][1] = 2; td[0][2] = 3 2K H G a0 2t M
td[1][0] = 4; td[1][1] = 5; td[1][2] =
printf("Et =& forE O|25I0 Z=Hwn"),

for (inti = 0;1 < ROWSIZE; i++){
for (intj = 0; j < COLSIZE; j++)
printf("td[%d][%d] == %d
printf("#n");
}

return O;
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(inittwodarray.c)
#include <stdio.h>
#define ROWSIZE 2
#define COLSIZE 3 =
int main(void) { 100
int tdl][3] = {{1}{1,23}} 123
int td2[2113] = { 1,2, 3,4} td2
printf("gt== forE O| 25} n"); 1 (2) (3)

for (inti = 0; i < ROWSIZE; i++) {

g

A

for (intj = 0; j < COLSIZE; j++)
printf("%d ", tdilljl);
printf("#n");

}
printf("td2¥#n");

for (inti = 0;i < ROWSIZE; i++) {
for (intj = 0; j < COLSIZE; j++)
printf("%d ", td2[i][j1);
printf("Wn");
}
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#include <stdio.h> 0| X} HiE 0|25t

#define ROWSIZE 4

#define COLSIZE 2 MA X 2|
int main(void) { | (tdscore.c)

int sum = 0, midsum = 0, finalsum = 0;

int score[][COLSIZE] = { 95, 85, 90, 88, 86, 90, 88, 78 };
printf(" St 7| ZHn"y; (1
printf("------------mmm oo #n"); =7t 7|9t
for (inti =0;1 < ROWSIZE; i+ { |
for (intj = 0; j < COLSIZE; j++) { 95 85
printf("%10d ", scoreli][j]); 90 38
sum += score[i][j]; 86 90
if (j == 0) midsum += score[i][j]; 38 78
else finalsum += score[il[j];, | .
} H: 8975 8525
puts("");
b A= o| $h2 7000|110 HF2 87,500
printf("----------—-- oo #n");
printf(" "t %7.2f %7.2fWn",
(double)midsum / ROWSIZE, (double)finalsum / ROWSIZE);
printf("#Wn'd &= 2| T2 %dO|11 ", sum);
printf("Et 2 %.2f0|CFwWn", (double)sum / (ROWSIZE * COLSIZE));



